
Pl
ac

em
en

t T
es

t

D
at

e:

N
am

e:

2x
 T

ab
le

in
 o

rd
er

1
x

2
=

 

2
x

2
=

 

3
x

2
=

 

4
x

2
=

 

5
x

2
=

 

6
x

2
=

 

7
x

2
=

 

8
x

2
=

 

9
x

2
=

 

10
x

2
=

 

11
x

2
=

 

12
x

2
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

5x
 T

ab
le

in
 o

rd
er

1
x

5
=

 

2
x

5
=

 

3
x

5
=

 

4
x

5
=

 

5
x

5
=

 

6
x

5
=

 

7
x

5
=

 

8
x

5
=

 

9
x

5
=

 

10
x

5
=

 

11
x

5
=

 

12
x

5
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

10
x 

Ta
bl

e
in

 o
rd

er

1
x

10
=

 

2
x

10
=

 

3
x

10
=

 

4
x

10
=

 

5
x

10
=

 

6
x

10
=

 

7
x

10
=

 

8
x

10
=

 

9
x

10
=

 

10
x

10
=

 

11
x

10
=

 

12
x

10
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

©
Ta

lk
in

gT
im

es
Ta

bl
es

.u
k 

20
20



Pl
ac

em
en

t T
es

t

11
x 

Ta
bl

e
in

 o
rd

er

1
x

11
=

 

2
x

11
=

 

3
x

11
=

 

4
x

11
=

 

5
x

11
=

 

6
x

11
=

 

7
x

11
=

 

8
x

11
=

 

9
x

11
=

 

10
x

11
=

 

11
x

11
=

 

12
x

11
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

3x
 T

ab
le

in
 o

rd
er

1
x

3
=

 

2
x

3
=

 

3
x

3
=

 

4
x

3
=

 

5
x

3
=

 

6
x

3
=

 

7
x

3
=

 

8
x

3
=

 

9
x

3
=

 

10
x

3
=

 

11
x

3
=

 

12
x

3
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

4x
 T

ab
le

in
 o

rd
er

1
x

4
=

 

2
x

4
=

 

3
x

4
=

 

4
x

4
=

 

5
x

4
=

 

6
x

4
=

 

7
x

4
=

 

8
x

4
=

 

9
x

4
=

 

10
x

4
=

 

11
x

4
=

 

12
x

4
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

6x
 T

ab
le

in
 o

rd
er

1
x

6
=

 

2
x

6
=

 

3
x

6
=

 

4
x

6
=

 

5
x

6
=

 

6
x

6
=

 

7
x

6
=

 

8
x

6
=

 

9
x

6
=

 

10
x

6
=

 

11
x

6
=

 

12
x

6
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

©
Ta

lk
in

gT
im

es
Ta

bl
es

.u
k 

20
20



Pl
ac

em
en

t T
es

t

7x
 T

ab
le

in
 o

rd
er

1
x

7
=

 

2
x

7
=

 

3
x

7
=

 

4
x

7
=

 

5
x

7
=

 

6
x

7
=

 

7
x

7
=

 

8
x

7
=

 

9
x

7
=

 

10
x

7
=

 

11
x

7
=

 

12
x

7
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

8x
 T

ab
le

in
 o

rd
er

1
x

8
=

 

2
x

8
=

 

3
x

8
=

 

4
x

8
=

 

5
x

8
=

 

6
x

8
=

 

7
x

8
=

 

8
x

8
=

 

9
x

8
=

 

10
x

8
=

 

11
x

8
=

 

12
x

8
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

9x
 T

ab
le

in
 o

rd
er

1
x

9
=

 

2
x

9
=

 

3
x

9
=

 

4
x

9
=

 

5
x

9
=

 

6
x

9
=

 

7
x

9
=

 

8
x

9
=

 

9
x

9
=

 

10
x

9
=

 

11
x

9
=

 

12
x

9
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

12
x 

Ta
bl

e
in

 o
rd

er

1
x

12
=

 

2
x

12
=

 

3
x

12
=

 

4
x

12
=

 

5
x

12
=

 

6
x

12
=

 

7
x

12
=

 

8
x

12
=

 

9
x

12
=

 

10
x

12
=

 

11
x

12
=

 

12
x

12
=

 

W
as

 th
is

 e
as

y?
 _

__
__

_

©
Ta

lk
in

gT
im

es
Ta

bl
es

.u
k 

20
20


